[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

%]
2

=3

S

=)

3

14

[[Nof

%]

2

=3

s ..............................
o v

IS

« |

1%} 123 0
] s S
g g g
g 2 ®
£ s 8
=
=]
o
e =] S
3 s 3
14 o 14
01)2468101214161820 0“(J246810121416182 01)2468101214161820
track x2 track x2 track x?
[erser
2] 0
R R R E rrrrerremeeeseeeeeeeeens
e S
() Q
B [ § [
3
=3
o
o v o v o
3 s 3
14 | o 14
! I ! F!
0. 0. 0. o

=




	Contents
	Page 1


